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1.Which of the following information is gathered during AP scanning periods? (Choose three.)
A. MACaddresses of neighboring APs

B. Security threats in the surroundings

C. WPA pre-shared key of neighboting APs.

D. Interfering Clients connected to other APs

E. 4.9 GHz devices

Answer: A,B,D

2.A Remote AP in tunnel mode, by default, uses which of the following to encrypt user traffic back to the
mobility controller?

A. L2TP over IPSec is used to carry user traffic and control traffic

B. PPTP is used to tunnel user traffic

C. The AP does not encrypt user traffic. The user’s link layer encryption is used.

D. Remote AP traffic unencrypted.

E. A certificate based tunnel.

Answer: C

3.In what order does the AP dynamically discover the Master controller?
A. DNS query, ADP Broadcast, ADP Multicast, DHCP option 43

B. DHCP option 43, ADP Multicast, ADP Broadcast, DNS query

C. DHCP option 43, DNS query, ADP Multicast, ADP Broadcast

D. ADP Multicast, ADP Broadcast, DHCP option 43, DNS query

E. DHCP option 43, ADP Broadcast, ADP Multicast, DNS query
Answer: B

4 .Clients connecting to a remote AP at a branch office can get an IP address through which of the
following methods? (Select three.)

A. DHCP server connected to the Remote AP’s controller

B. DHCP server at a branch office

C. Address must be statistically assigned

D. DHCP server inside the Remote AP

E. DHCP from global content sever for remote APs

Answer: A,B,D

5.What information is required by an AP in order to boot? (Choose three.)
A. AP’s IP Address, Netmask, Default Gateway

B. AP’sname and group

C. Aruba Controller Master IP Address

D. An established NTP connection to the Master Controller

E. Establish an IPSEC tunnel with the Master controller.

Answer: A,B,D
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